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Q.No: 1
2412718 The length of Gunter’s chain is -
TR A B TS Bl §
66 feet
66 Wie
76 feet
76 Wie
100 ft
100 Wie
125 ft

125 B¢

Correct Ans : A

Q.No: 2
2412719 Plane surveying is done on area of less than-

e 3 & 0 A TR AR e foar o § -

50km?

A
50 i feft
250km?

B
250 if fft
500km?

c
500 & fwft
1000km?

D
1000 Tf it

Correct Ans : B

Q.No: 3
2412720 Which of the following is not a chain?

et & & 7 v A T @2

Revenue

Metric

Ricsd
Arrow
d®
Gunters
T

Correct Ans : C

Q.No: 4
2412721 Revenue chain is divided into -
o 4 T Bt @ -
16 links

16 s@A
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32 links
B

32 5@

64 links
c

64 @A

128 links
D

128 @

Correct Ans : A

Q.No: 5
2412722 Invar tape is made up of -

AR 3 & B &

Steel and Nickel

A
e @ a1
Wood

B
TS BT
Polyester

[«
UrefidER BT
Nylon

D
gaE B

Correct Ans : A

Q.No: 6

2412723 Angle of land slope is measured by-
¥l G B BV AT A & -
Pedometer
st gRT
Clinometers
WUt gRT
Piezometer

T gRT

Compass

P GRT

Correct Ans : B

Q.No: 7
2412724 One horse power is equal to -

T 3% e IR SR S -
10 watt

103 dic &
108 watt
108 @lc &
746 watt
746 dic &
746 kilowatt

746 felt alc &

Correct Ans : C

Q.No: 8
2412727 First Modern internal combustion engine was invented by-


https://applink.adda247.com/d/XhqWf9lSap
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a Google Play

W Sy SiidRe g gor & Finfar §

James small

A
S w3
Elon musk
B
T w A
Rudolf Diesel
C
wetew St ¥
Nicolaus otto
D

Fratew st &

Correct Ans : D

Q.No: 9
2412728 The carburetor of an internal combustion engine is used to mix fuel with -

P 7 forads Ay s 3 offafe ae o & PraRex @ Sudn far o @ 2

Coolant
A
Riceed
Air
B
Tl
Water vapour
C
g
oil
D
a@

Correct Ans : B

Q.No: 10
2412729 Central Institute of Post Harvest Engineering and Technology (CIPHET) is located at.

it Peré SR MEiRE wd el (Hessn) Geim Iufkrd € 2

Mysore
A
Karnal
B
A
Ludhiana
c
it
Lucknow
D
TS

Correct Ans : €

Q.No: 11
2415400 Gaseous Hormone in plants is called-

elf & R gl wEe @
Phytochrome

harciau]

Indole Butyric acid
S GRR ofrs
Ethylene

wfrefi

Cytokinins

AT

Correct Ans : C
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Q.No: 12
2415401 Name the biochemical pathway where the biosynthesis of folates and aromatic amino acids takes place.

IY SRS T P T R Fel wide iR Waks s snell 1 Sawawor g 21

A
Riffire wirs wyd
Embden-Meyerhof-Parnas Pathway
B
T ARG AR W
Gluconeogenesis pathway
C
TSR ARt
Glycolysis pathway
D

TaTgPaTgi ARt

Correct Ans : A

Q.No: 13
2415402 Sterols which is less prevalent in plants

R S delt # @ At §

Stigmasterol

A
fremmedia
Sitosterol
B
Rrereta
Cholesterol
c
T
Campesterol
D
v

Correct Ans : C

Q.No: 14
2415403 A pentasaccharide that contains four units of galactose and one unit of sucrose, occurs mostly in leguminous plants, which among the following is the example of pentasaccharide sugar

P TeridTgs R AT #1 TR SHTel IR YW 3 U TS Bl 8, SR Beller Uil F At 2, o Fafifed # 9 ferddnrgs €+ @ e 8

Maltose
A

e

Verbascose
B

Ricaid

Raffinose
C

e

Pyranose
D

TR

Correct Ans : B

Q.No: 15
2415406 Photosynthetically Active Radiation (PAR) is the portion of the light spectrum accessible for photosynthesis in green plants. What is the range of spectrum of light in terms of PAR?

TPTYI WRATS T Y Wfpd B0 (PAR) &R Diell & TR WA & forg o wepTer W 1 R 81 PAR F T H v & WaeH o W 82

200 - 400 nm
A

200 - 400 TTTH

400 - 700 nm
B

400 - 700 TAGH

750 - 900 nm
C

750 - 900 TITH

800 - 1000 nm


https://applink.adda247.com/d/XhqWf9lSap

Adda N Play

800 - 1000 TTTH

Correct Ans : B

Q.No: 16
2415410 The phytotropins are specialized class of auxin transport inhibitors which show high affinity with

WIS giaué gaffaes & fafte of & s % Wy I ST e €1

Intrinsic receptors

A
ity Rvgst
Parascorbic acid
B
s ohrs
Naphthylphthalamic acid
c
AfREEuTRe s
Akinetes
D
liLacs

Correct Ans : €

Q.No: 17
2415415 In plant tissue culture, haploid plantlets can be obtained from

TG FHaw Fad F, sqfrd Dl w ur fan S e 8-

Callus culture

A
e wrep
Another culture
B
I PRI
Shoot culture
C
T PR
Tissue culture
D

Fa® HadT

Correct Ans : B

Q.No: 18
2415417 Name the chemical which is used for protoplast fusion

I T BT A ST RRIST ST AT Sea & g fa s &

Polyethylene glycol

A
i @
Agar
B
AR
Sodium chloride
c
T FRES
Mannitol
D
wfieia

Correct Ans : A

Q.No: 19
2415419 The growth movement in response to touch, or contact of a foreign body, in plants is called

e # et fadet ffs & woef o s @t oo & of 91 i wwand 2-

Tendrils
A
Hgw
Thigmotropism
B
Chemotaxis
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FurfEE

Thigmotaxis

R
Correct Ans : B

Q.No: 20
2415422 During the process of photorespiration which one of these are synthesized

VBT 4 1 AT B AR S ot wrwatw € 82

NADPH
A
LSt
ATP
B
wddt
CO2
c
COy
Sugars
D
Ricad

Correct Ans : C

Q.No: 21
2415451 Which program help the recovery of endangered species by preserving the existing gene pool and preventing inbreeding

P 1 BRIHH T S G Bl W 3 3R SIS B Ao v Uil Bt et # Heg Har &

breeding Programme

A
WO ST
Reforming program
B
FUR FTdHH
Recharging program
C
Feanfofn wrdmw
Conserving program
D

W& BTRIH

Correct Ans : A

Q.No: 22
2415452 A cross is made between two homozygous parent plants, is called monohybrid cross. In this cross genotypic ratio is

3 grgHe qg Qe & dr U G0 S o €, R Aleriis e sed 81 39 Hi9 sleriie oqud § §

1:2:1
A

1:2:1

1:2
B

1:2

1:1:2
C

1:1:2

2:1:1
D

2:1:1

Correct Ans : A

Q.No: 23
2415455 Golden rice is a genetically engineered variety of rice developed by inserting a gene from and a gene from found in soil

Ties g Fad B ARG T F IR e 3 R P & urg e o A @ ofF iR A @ ofF e R foar mar &1

maize and bacteria

Wt AR Adfar

rye and fungi
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T IR BaP

maize and rye

HaT 3R TE

maize and fungi

TP IR FAT

Correct Ans : A

Q.No: 24
2415456 The process by which particular homozygous plant varieties can be selected for creating next generations.

g uftran Rred g1 e it & Fafor & R Rty gorgrrsh el &) vl &1 e foan o T R1

inoculation
A
g
Selection
B
T
inducing
C
SR
preservation
D

Katout

Correct Ans : B

Q.No: 25
2415457 Which was first Indian dwarf amber grained variety of wheat made from Sonara 64 by y ~gamma rays

T RO R WART 64 F Ffifd I $ veeh Rt S TR s arelt frer S e

sona
A
o
Kalyan
B
Heqror
Sharbati sonara
c
Rad WAR
Sonalika
D
AT

Correct Ans : C

Q.No: 26
2415461 Which one is the first crop plant whose whole genome was sequenced in 2010.

g Bad Qe B 1 § Rt @1 S 2010 F el fsar mar o

Oryza australiensis (Australian rice)

A
Sifee ifeRfmfRm (s e )
Oryza sativa (Asian rice)
B
st dfear (e araw)
Oryza glaberrima (African rice)
c
3t TR (S T
Oryza longiglumis (New Guinea rice )
D

Sifee wifRrgfe (3 e amaw)

Correct Ans : C

Q.No: 27
2415462 Pusa Lerma is an improved variety of

g ol eue! S e 82

Wheat
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Maize

Soyabean

T

Rice

|

Correct Ans : A

Q.No: 28
2415463 A hybrid is

Lcaicasd

Homozygous

HAgHS

Mutant

Seafeadf

Heterozygous

et

Heterogenous

Rt

Correct Ans : C

Q.No: 29
2415467 Which term leads to rapid formation of new species through the development of multiple sets of chromosomes

P I ez ORGT & B ¥ & R & megm § 7€ yonfadt & ot § Mo 3 3R S ¥

Polyploidy
A

TSt

Polysomy
B

ureftR

Disomy
C

it

eugamy
D

TR

Correct Ans : A

Q.No: 30
2415471 When pollination and fertilization occur in unopened flower bud, it is known as

W& Gell B el B W SR P g g, @ e F F H T g

Cleistogamy

A

it

Oligogenic
B

Siferisife

Anemophilous
Cc

IFIEA

Protogyny
D

Wit

Correct Ans : A

Q.No: 31
2416107 Who among the following is known as Father of Tillage
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Frofufed # F 5 GaE BT SFS HH=T ST §

] B Lawes

EEIk

Jethro Tull

Sl gew

Liebig

farfemr

Blackman

BT

Correct Ans : B

Q.No: 32
2416108 ‘Theory of humus’ was explained during:

THY 1 RIGTa o GHE T o

1809
A

1809

1819
B

1819

1919
C

1919

1909
D

1909

Correct Ans : A

Q.No: 33
2416109 Triticale is a cross between

Rfedra 5w & & v wia 3

Wheat and barley

A
g o ot
Wheat and oats
B
g o g
Barley and rye
C
EE s
Wheat and rye
D

g oite g
Correct Ans : D

.No: 34
2416110 Agro-climatic regional planning was initiated in India with the inception of

URA § PR-SIerarg &fta A S F SR F T T g Tl

First Five year plan

A

W vaadty g

Grow more food Campaign
B

3w @y IUSy S

In late eighties
C

it & T B I

The Seventh Five year plan
D

ATt veradfa T

Correct Ans : D
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Q.No: 35
2416111 The abiotic component of agro-ecological zone comprises of

PR-TRRR B & B s vee § Pl T §

Light, water and animals

A
TS, UL SR Uy
Minerals, plants and soil organisms
B
@, N 3R firt F sftarg
Non-living things like water, minerals, salts, atmospheric gases, energy like light, heat and stored energy
c
urfl, @, wau, argrsey A el frsffa D, ger, o i dufda et kit Swt
Water, wind and plants
D

TR, g ok Y

Correct Ans : C

Q.No: 36
2416112 Ability of a system to manage the resources of agriculture to satisfy changing human needs, while maintaining or enhancing the natural resource base, while avoiding environmental degradation is known as

T YOI B TR 3 &ROT F T IR WPias HHIE F SMUR B T TG T G & IY-HY TEwid AT TRl B IR B & ¢ P & T BT T B B AT DY 5 AW J S Sl 32

An efficient system

A

TH T Yot

a productive system
B

TP IAGH Yumet

a sustainable system
c

T et yomeht

high input agriculture
D

I A I P

Correct Ans : C

.No: 37
2416113 Crop mixtures have proved most dynamic, biologically under

wEd S R S Eu F ga i frarehe wHild gu g....

Irrigated conditions

A
Rifera fRuferdt &
high soil fertility conditions
B
Y ot 3= Sdvar Y R &
water stress conditions
c
oo e P fRufe &
large holding conditions
D

3 g 3t fRufe &
Correct Ans : €

Q.No: 38
2416115 Which one of the following pairs is not correctly matched

Frafefea 3 3 frw 7w @1 9t T I T freman e &

Relay cropping: Sowing Berseem In Rice Crop Prior To Harvest

A
A pa: Ferd A Ted uH P wEa F aRitT B gard
Intercropping: Sowing Wheat After Rice

B
SR-THA: UM & TG g BT gas

ier cropping: Coconut - Pepper- Cacao-Pineapple
c

TE-FG HEA: ARG - Sref frd- Hr-sHE

Sole cropping: Potato
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T G TG

Correct Ans : B

Q.No: 39
2416116 As per the principle of crop rotation, pulses should be included in crop rotation as

A IV & RISid & SUR qaeH! b1 Bud I & e wnfira foan s =nfgu:

They increase the total pulse production

A
A9 & T I F I YA §
They maintain the soil fertility by fixing atmospheric nitrogen
B
3 TgHEH TEEIeH B fRR Fd g 3 Idvar e T ¥
They are short duration crops
(o}
370 ol A wed ¥
They increase the yield of the succeeding cereal crop
D

q a1g ¥ 9 SaTeh 9T 9 Bae #Y Sue A gfF wva ¥

Correct Ans : B

Q.No: 40
2416118 Iron was proved to be essential for plants by:

e Bt foreres gr1 et & g siraae s faan a2

E. Gris
A

<. B

C. Sprengel
B

. it

H. J. Evans
c

. R @

N. L Vavilov
D

. 3é. aifdeia

Correct Ans : A

Q.No: 41
2416143 In Soil Science "Micelle” stands for

o R @ ond @

Colloidal particle carrying positive charge

A
AT Tl 96 B aTE BTSS! B
Colloidal particle carrying negative charge
B
FUNTES el T67 P AT Prafgs! Hor
Micropores in between textural particles
c
F1GE S $ ot § wrgwia
Negatively charged silt particles with high CEC.
D

I WA & Y THRIEP T | =161 fPY 7T MG BT

Correct Ans : D

Q.No: 42
2416145 Triazines in soil are degraded by:

Rt & 2R P &RV TP g1 B §

Azotobacter

THRTR

Aspergillus sp.

TR gadt.
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fod.

Correct Ans : B

.No: 43
2416573 The available water holding capacity (AWHC) of sandy loam soil is:

g Ee firgh 3 o U g (TseREeRt) i ot 2

0.20 g/ cc
A

0.20 g/ cc

0.16 g/ cc
B

0.16 g/ cc

0.18 g/ cc
c

0.18 g/ cc

0.1l g/ce
D

0.11 g/ce

Correct Ans : B

Q.No: 4

4
2416574 Capillary and non capillary pores must be in proportion for good crop production:

S B F e & forg Foerdt AR A4-Foedt g ST H g wfRT:

25:75

75:25

75:25

80:20

80:20

Correct Ans : B

Q.No: 45
2416575 Soils with Bulk density 1.325g/cc and Particle density of 2.65 g/cc consist of a total porosity of:

1% T 1.325g/cc 3R 2.65 g/cc & BV T arehl gl 3 P qsra gt &

30%
A

30%

50%
B

50%

40%
c

40%

60%
D

60%

Correct Ans : B

Q.No: 46
2416627 Zinc, Boron, Mangenese, Molybednum, Iron and Copper are called micro nutrients, because they are

Ries, SR, B, RIS, ST 3R HIR $I Y& 09 e Hel ol 2, TP 3
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Nutrients required for micro-organism growth

A
g el & frpra & fg s v 9@
Essential nutrients but required by plants in minute quantities
B
HTATIF WP ded AfpT Wl GRI gaw 7 F Srawas
Nutrients of microscopic significance
C
& WEE ¥ WF qd
Nutrients which are not e3ssential for plant growth
D

e T ot 0 i F g sravae T8 ¥

Correct Ans : B

Q.No: 47
2416629 Number of land capability class as per Soil Survey of India is:

R % HaT &0l F SFTER U & W SR @il F gEw 3

12
A

12

10
B

10

8
c

8

6
D

6

Correct Ans : €

Q.No: 48
2416631 Addition of excess quantity of available phosphatic fertilizer to soil may affect

it & SuTe HEHReS IR B IS T B e F yufad & T §

i of iron and i

A

TR IR TegHifas Bt siftrear

Reduced Zn availability
B

FH Zn IYARAT

Reduced availability of Ca
c

Ca & 30 Sua@T

of growth of

D

eroital & e & $erae

Correct Ans : B

Q.No: 49
2416638 Conversion of NH4to NO in soil is brought about by

38T # NH, &7 NO, # 9Rad e carrgiar &

Nitrosomonas

A
AR
Nitrobacter

B
AR
Pseudomonas

c
LSt
Rhizobium

D
gsifaa

Correct Ans : A
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.No: 50
2416744 Indicator plant for boron deficiency is:

AR @ Fi F for waw dien
Potato

S

Sugarbeet

TR

Sunflower

L sl

Corn

o

Correct Ans : C

Q.No: 51
2416772 Rice is believed to be originated from:

T 3 g AR BT & WA STl &

South east Asia

A
aftor o et
India
B
HRd
Australia
c
Sifeferan
China
D
o=

Correct Ans : A

Q.No: 52
2416773 Recovery phase or transplanting shock of transplanted rice is around from the date of transplanting:
ARG 4T BT YR TR I1 GARIGU ST Bt Sl AU 1 aRg & T 3t gt 3
2 - 4 days
A
2-4fF
4 -10 days
B
4-10 &
10 - 15 days
C
10-15fRA
15 - 20 days
D
15-20 7

Correct Ans : B

Q.No: 53
2416774 Country which is pioneer in hybrid rice is :

TR Y & I H G moft A &

China

=

India

Japan

Philippines
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et

Correct Ans : A

.No: 54
2416775 Days required for transplanting rice seedlings under dapog nursery is:

ST e 3 St U @t Au & o . R Bt srafy A s gt €

10
A

10

14
B

14

21
(o}

21

28
D

28

Correct Ans : B

Q.No: 55
2416776 Number of leaves considered optimum for transplanting rice seedlings is

o1 Pt A0S F o srggeran A S arch afd @ W &-

1-2
A

1-2

2-3
B

2-3

3-4
c

3-4

a-s
D

4-5

Correct Ans : D

Q.No: 56
2416778 Khaira disease in rice is due to deficiency of:
o B G A7 et ol Qg @

Zn

zZn

Fe

Correct Ans : A

Q.No: 57
2416779 The main objective of intercropping is to

HREE BT TS I ¥

Help the main crop grow better

T BT BT AgaR & A ST F 7eg FeA
Improve the soil fertility

Y &t e & uUR BN

Check soil erosion
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Tt & Fera F g HE

Get additional crop and income
fafed wae S 3w HeAr
Correct Ans : D
Q.No: 58
2416780 DAPOG method of crop raising is associated with

T I B DAPOG TG Tl 3

Seed bed preparation

A
A T FIR B
Nursery raising without soil
B
e ) & A
Intercultivation
C
Sfaphy
Weed management
D

WIAER TaUT
Correct Ans : B
Q.No: 59
2416781 Which of its husked dal is used to mix with rice flour for preparation of idli and dosa:

ISl 3R ST T & g g @ b gra @) @ FiebTel AR I =rad & s H e o 8

Greem gram

A
R
Cow pea
B
wifear
Black gram
c
e I
Gram
D
kil

Correct Ans : C

Q.No: 60
2416782 Pulse crop gown for grain, fodder and green manure is:

e e TEa ST 3, IR R &8 @E & forg g o 8

Lentil
A
Ly
Redgram
B
e 911
Gram
C
Eall
Cowpea
D
wiferar

Correct Ans : D

Q.No: 61
2416823 Global warming is mainly due to increase in concentration of

Tl AT T Y ¥ g9e! Fedl § g & RO ¥

co,
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02

NO2
c

NOz

Hz
D

Hz

Correct Ans : A

Q.No: 62
2416824 Which of the following gases has 20 times more potential for causing global warming than CO»

Frafafad 8 @ o i § co, 3t ga & weilaa aiftf S H Ft & 20 T RS 7

S0,
A

S0,

NH3
B

NH3

CHg
c

CHg

N20
D

N20

Correct Ans : C

Q.No: 63
2416825 What type of radiation is trapped on earth’s surface as a result of greenhouse effect

FTETSH T F TRUTAEREY Jaft 1 WaE R e TR 1 R v o &

UV rays
A
R ol
X rays
B
ua faor
Gamma rays
C
T ot
Infrared rays
D

e ot

Correct Ans : D

Q.No: 64
2416826 In India, the highest sunshine hours per day is in the moth of

A H, U R el oifi yu @1 W R AR

March

April

June

Ey

Correct Ans : C

Q.No: 65
2416827 When Industrial chemicals combine with condensing vapour, it results into

i SN TE o 4T & Y g9 €, o 39! uRkumd gl 8
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Global warming

A
Peerivkasicand
Acid Rain
B
3t
Basic rain
C
gfvardt afvr
Green house effect
D

Hrered yura
Correct Ans : B

.No: 66
2416829 When the annual rainfall is less than normal for a prolonged period over an area, it is considered as

e Tt 4 7 it srafy & ferw anftfer awf W @ & it @, o S | ST &

Agricultural Drought

A
P gar
Hydrological drought
B
TTESratee qEr
Meteorological drought
c
wrew wedt g
Seasonal drought
D

wree @

Correct Ans : €

Q.No: 67
2416830 Short supply of water to meet the demand for crop duration is called

wEd P AR F AT B G P F ¢ o+ B 5w gl B et e ¥

Hydrological drought

A
TR @
Meteorological drought
B
drew wddt @
Agricultural Drought
c
P
Dryland agriculture
D

o i P

Correct Ans : C

Q.No: 68
2416831 The moisture index is maximum in

< o g siftwan §

Perhumid

eyl

Arid

T

Semiarid

Kiteiics

Humid

T

Correct Ans : A
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.No: 69
2416832 When a prolonged drought results in drying of available water sources like streams, tanks, reservoirs, wells etc., it is called as

e TS TG q GE S IRUTRGEY SUTe S Hid 9 4RTY, S, SR, $U S §E 9 €, o 9 79 Fel o @

Agricultural Drought

A
P
Meteorological Drought
B
wrew wedt g
Hydrological Drought
c
TR @
Seasonal Drought
D

et

Correct Ans : C

.No: 70
2416833 Which one of the following gases contributes maximum to “green house” effect

Frafefed § @ a1 @ 9 0 grow" vaE H sftedd dem 3 &

co
A

co

co,
B

co,

CHq
C

CHg

N20
D

N20

Correct Ans : B

Q.No: 71
2416927 Method of controlling aquatic weeds is termed as

et SRuAaR! @ Fdfia s @ il sear &

Flooding
A

e

dredging
B

Frador

mulching
C

Taar

solarization
D

Bieau]

Correct Ans : B

2416928 Flame cultivation is used in which of the following crops

Saer Wl 1w Fafafed § 3 e e # R o @

Tomato
A

THIR

Potato
B

B

Brinjal
C

&=
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ot

Correct Ans : B

.No: 73
2416932 Average loss of agricultural produce due to weeds in India is estimated to be around

URA H WRUGAR] & HRU S IUS BT 3G JHA T 81 BT A &

33%
A

33%

45%
B

a5%

43%
(o}

43%

23%
D

23%

Correct Ans : A

Q.No: 74
2416933 Weeds which are monocot in nature belong to the family

TR S TP T T 8 ¥, Ie B A ¥

Asteraceae
A

TR

Cyperaceae
B

Rl

Fabaceae
C

et

Poaceae
D

b

Correct Ans : D

Q.No: 75
2416939 Weeds which are of no use and does not have any economic value are known as

3 WRUGAR S el B & T 8 IR Rt B ol e 7 Erer, Few §

Relative weed

A

WIE WRITAR

Absolute weed
B

of @RudER

Rogue weeds
c

E Aran

Exotic weeds
D

=t wmaw

Correct Ans : B

Q.No: 76
2416940 Classification of weeds on the basis of reproduction was given by

TS F YR TR GRUAAR] P affevor e g1 fan mar ur

Fischer
A
e
Muenscher
B
=R
Tull


https://applink.adda247.com/d/XhqWf9lSap

Adda N Play

«

Garner

s

Correct Ans : B

Q.No: 77
2416941 Weed seeds which are difficult to separate out once mixed with crop seeds are known as

TRUFIR F i R T TR B et & W1y B W S B GRp g @, Peed §

noxious
A

wIFeRS

objectionable
B

B

poisonous
C

fadr

parasitic
D

el

Correct Ans : B

Q.No: 78
2416942 Weed of a family having angular stem with glossy leaves and prominent mid-rib

TR URA IR THE A el & W H1fi o 9 WRUqaR 3 weia 8-

Amaranthaceae
A
SRR
Fabaceae
B
et
Cyperaceae
c
ATFuRE
Poaceae
D
et

Correct Ans : C

Q.No: 79
2416963 Loose smut in wheat can be effectively controlled by

A 7 I e B fpaes gr vt wU § Frifid fpar o we &

Crop rotation

A
T T AP
Soil tr with
B
IR-yorreliTa SR & |y gt o1 STER
seed with i
c
yoreftTa FawE & Wy di ITER
the crop with
D

THA R FHEARIG! o1 fSgaa

Correct Ans : C

Q.No: 80
2416965 Which one of the following is the correct mode of infection in Ergot of bajra (pearimillet)

ProfifEd 4 A i s (swdh) & 3RiTe & eprvl 1 T T 3

Shoot infection

T FRE

Local infection of blossom


https://applink.adda247.com/d/XhqWf9lSap
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T BT R HHAT
Seedling infection
SR HHHO
Systemic infection
Vot Feheor

Correct Ans : B

Q.No: 81
2417029 “Protective food” includes

RS " B e §

Fruits and vegetables

A
wa iR wfemat
cereals
B
TS
Fruits
C
L
Vegetables
D
wfesrat

Correct Ans : A

Q.No: 82
2417030 Richest source of Vitamin C

frerfert < o1 woR W i

Aonla

Mango

Citrus

wrEcH

Correct Ans : A

Q.No: 83
2417031 Modified stem of Banana is

P G T B

Sward sucker

A
qurTa yf¥y W arar
Rhizomes
B
Wb
Water suckers
c
Tt SR aren
Corm
D
Eaut

Correct Ans : B

Q.No: 84
2417035 Which country has the highest production of fruits and vegetables

Wil SR el BT et e e o 4w 7 g 82

India


https://applink.adda247.com/d/XhqWf9lSap

China

=

Brazil

e

Correct Ans : C

Q.No: 85
2417036 Air layering is most common method of propagation in

TR AT TR PTG S DT S

Litchi

il

Aonla

Guava

AFG

Correct Ans : A

Q.No: 86
2417037 Which of the following is known as ripening hormone

Froffea # § 58 ve aren gl wet S 8

GA3

firatfira (GA3)

Auxin

it

Ethylene

et oiirs (ABA)

Correct Ans : C

Q.No: 87
2417038 The part of plant on which grafting is done is called

U1 T g WA R TR AT Bt Sl €, e &

Root stock
A
e wie
Stem
B
a
Scion
Cc
a3
branches
D
it

Correct Ans : A

Q.No: 88
2417039 Bending is practice in guava to encourage

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
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SR B e & forg e i ofifae B

Better sprouting

A
AgR ST
Better ripening
B
I§ER THT
Better quality
[
g U
Better fruiting
D

ATR TA

Correct Ans : D

Q.No: 89
2417047 Fruit is basically a

Tl &1 el ¥ &

Ripened seed

A
T g3 fiw
Ripened ovule
B
THT 3T TR
Ripened ovary
c
TP G SfSTRIT
Ripened calyx
D

T g3 Hefte

Correct Ans : C

Q.No: 90
2417048 Technique which is used to disinfect seed bed

Fettes ot e T FenRfed F 3 forg i @ e @

Scarification

A

TR

solarization
B

Lucau

stratification
C

wR-famra

alinization
D

Eccay

Correct Ans : B

Q.No: 91
2417162 The major activities of agricultural extension division Are..?

P IR vt @ v fafafiat 82

Technology assessment.

A
Wi geaie
Farming
B
w1
Development of skill.
C
grvra faer
Entertainment
D

FeRETT

Correct Ans : A
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Q.No: 92
2417163 Which is the first step of extension educational process?

Y TR SR 1 Ug RO B 6 82

Collection of facts

A
it @1 WwEl
Cultural activity
B
FRuferat @1 feretwor
Doing by learning
C
g3 @ atfr
Deciding on realistic objectives
D

qurefardt Sl w Fofg

Correct Ans : A

Q.No: 93
2417164 The latin roots for the word ‘Extension”

TR Vg & o Afe

Ex and tension

A
e IR ¥
Ex and ten
B
T AR T
Ex and lucco
C
TR R I
Ex and termo
D

T O Tt

Correct Ans : B

Q.No: 94
2417165 Farmers first’ model was put forwarded by

ar & gd Hisd &1 BRI S 3@ T U

Robert Chamber

A
et Faw
Readdy
B
FR
Knapp
C
AT
Berlo
D
Tt

Correct Ans : A

2;17’156 The main mode of extension in the ‘farmers first’ model is

TR B Hisd F T @1 47 WS, 7

Farmer to farmer

A
o & fram
Agent to farmer
B
e | fram
Research to agent
C

ST A ToHE

Farmer to scientist


https://applink.adda247.com/d/XhqWf9lSap

Adda N Play

fram @ e

Correct Ans : A

Q.No: 96
2417167 Andragogy’ is for

gt Hfwe
Children
A
=
Older person
B
qq>
Male person
C
fa v
Female person
D

e wiT

Correct Ans : A

.No: 97
2417168 The term ‘Pedagogy’ literally means

"FRigfurI ez a1 Wi o ¥

School dropout

A
are fam
Adult learning
B
Faws fiam
Balvadi training
C
Fearst ¢
Aganvadi Training
D

st 3

Correct Ans : B

Q.No: 98
2417170 First line demonstration was launched by

T TTE T UfeTe S faar T

Extension education

A
e e g
Physical education
B
<R e g
Anthropology education
C
wyitaratont fRram grRT
Demonstration
D

wiaTe gRT

Correct Ans : D

Q.No: 99
2417171 James Stuart associated with

SR ARE

Extension education

o fRram

University extension

Fryfremer e

Ancient education


https://applink.adda247.com/d/XhqWf9lSap
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Thifde TegT

Mordern Education

AE TogFI

Correct Ans : A

Q.No: 100
2417174 Who is father of extension in India?

HRT & TR BT S O 82

Robert Chamber

A
et Faw
A. Reddy
B
L&)
K.N. Singh
c
Fg. Rie
Berlo
D
@t

Correct Ans : C

Q.No: 101
2413595 What is approximately share of India in the global agri-trade?

Ay HR-UR F URd 1 R e e &2

2.5%
A

2.5%

4.5%
B

4.5%

8.5%
C

8.5%

9.0%
D

9.0%

Correct Ans : A

Q.No: 102
2413598 In India, Tank irrigation is more common in which of the following regions:

HRa & Frofifed § & fra &7 §, armt (&) 3 R st waf 2

Rocky plateau regions with uneven and highly seasonal rainfalls

A
A AR el Hredt quf ard T ve 8
Regions with presence of perennial rivers and plenty of rainfall
B
IR AR AR v auf ardt &
Arid and Semi-Arid regions with scanty rainfall
C
&1 quf are Y R 3ref-3rew &
Coastal regions with regular rainfall
D

Fraftra auf arat ot &=

Correct Ans : A

Q.No: 103
2413600 Which of the following is not a category of seeds?

Foffad § § S 6l 31w o 71 32

Foundation seeds

BT die

Breeder seeds
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